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‘Quotations from Chairman Mao

v BEAAHLEGARERS, SAREFGHNL L,
Fducation must scirve proletarian politics and be combined

- s

with productive labour,

4

TL" THESRy AhY A,
' Make the past serve the present and foreign things serve
Chinre, '

HIHABE RS, HEFHOAGS IS ¥R BHETR
R, TEMETUSFE, FTEHRT,
Why do we need to study language and, what is more, spend

much effort on it? Because the mastery of lanquege is not

easy and reaqulres painsteking effort,
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Parallel Connections
Teﬂ
In a parallel connection there is more than one path for the
current to flow through so that the current divides, part going
through one path and part through another,
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The fisure above shovm 4 lame connected in paralliel to a
gen-emtor, Part of t’ne‘curren‘h from the ggnemter leaves the main
line and flowg through the firet lamp, paxt goes through the
second, and so on, The current add together again on the return
wire so that a1l the curremt flows bsck %o the zenerator, The
total ct}grmt in a pgranel circuit is the sum of the currer;hs
in the sgparate paths, »

If a voltmeter is connected across each lamp in turn of the
ebove figure, it will read the same for each lamp,

If it is connected across the generstor terminals, it will
read the same as for any lamp,

Vhen two equal resistanceg are eonnected'in parallell, +he

conbined resistance is half that of one of the resistances, Vhen
three equal resistances sre connected in parallel, the combined
reaistance is one third that of one of fthem,
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Expressions

varallel connection

80 that
in parsllel to
the main line

and so on

for tbe current o fiow through

the retum wire

flow back %o
in turn

read the game
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KIcﬂ;e to the text

Part going tnmugh one path and part through anothev"
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Revolution meansg 1:l.berating the productive forces

and promoting their growth,
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a, A varisble resistor uses a shaft to_control the .
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b. To use different units for the measurement of electric
guantities is necessary.
FE#efmEaERLENR,

TEAAELEGPEETEN, GEREHBHEAYET, TE
) AEACATEBREE, £ARMAT, Lt KEEBR
 REATER,
a. It is very importent to study Chairmen Mao's works hard,

b, It is necessary to use different unita for the measure-

ment of electric quantities,

2, kEE#E ;
a. There are two wavs to classify resistors,

HEAR LR EE FE&

b, Ohm is the unit $o be used for the measurement of

resistance.

32 A SR E ok [ 8,

a, Ye use switches to close or open circuits,
RMNAFRFEHARIFFEE,

b, A varigble resistor uses a shaft to control the

resistance value,
WA REA AR FEE,

a. The mogt important thing is to give first place %o
prolelarian politics,

REEGEWAEEE B R KE Fh,
b. One of the main functions of semiconductor materials is
to maintain 2 constant temperature,
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5. fxiE f
~ Blectronics technology comtinues :tg_ij.nd__________aml
wider spplications in industry,

MFHREIL ERGFE SR M3 A,
¥V, #for WRER&EH

| for+£@AZRE (EH) +F xR

RALHEA L TUEZSE, RF, #5, REL, M,
a. Tt is difficult for electrons to move through insulsbors.
RFREGs sk (%)

b, Por current to flow, all parts of the circuit must be

connected, ; e
AT REERE, EHEAELHI20FFE8F, (HRhE)
¢. & circuit provides a path for current to flow,

Ml E—-fi RS S, ((FEF)

Vo TREAGHH R ? .
FEATURZHAAUGR, B "o use" (),
"o be used" (B FH), "o provide" (= ifl), "$o be provided"
() &, '

FERGAHKE “To be+R LW WA, M
a. A transistor to be made in this way is called a junc-

+lon transistor,

 XRHURGEAFIRTLBEEE,
b, Ohm is the unit to be used for the- measurement of
resistance, EFTy v

BgRAEME R By RA,
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Exercise to Grammar

BUTALTEFRRET UER, FRATFERBL,

1, Since it is often desirable to open or close a circuit,

nearly 211 eircults conbgin some form of a switch,

2, An gdjustable resistoi uses a sliding contact $o provide
the required value,

%. Resgistance is the property of a materizl to oppose the flow
of electric current, (%o owpose the flow of elec*bﬁc
current B %3 WL iE UL 8 )

4, An AC-DC switch prepares the meber for the type of voltage
or current to be mcasured,

5. It is difficult for current to flow through insulators,

6. When there are two or more sources having different voliages
and polarities, the key for determining :'ahe total volitage

is to find the potential difference between them,

Exercises to the Text

I, Substitution drill
1. in & parallel connection

Do the same with
series
series~-parallel
2. more then one path
Do the same with
figure
generator



for the current to flow through

~ Do the same with

4,

9.

g0
pass
the figure above

Do the same with
below
on the left (right)

conmected in parallel to a gemnerator
Do the same with
motor

machine
flow back to the generator

Do the same with
circuit

resisgtor

the total current in a parallel circuit

Do the same with
series
series-parallel
in the separate paths

e

Do the same with
lamps
circuits
connected across each lamp

Do the same with
motor
generator

P o



10, half the resigtance

Do +the same with
one second
one third

II, Give the missing words

1.

In a cornection there more one
path for the curremt o through so _the
current , part . through one path and part

' enother,

The figure - ___ shows 4 lamps Si in to -

a generater, Part of the current ___ the generator
e the main line and flows through the first lamo,
pa.rt"l -'bhroughthe”“”,and____'_'__;on.

The_ current ______ together again _____ the return
wire so - all the current ——w_ back to the
circuit is the

generctor, The total ocurrent in a

of *the currents in the —__ __ paths,

Ir a voltmeter is

acrass each lamp in
of the above figure, it will _____ the sauve

the ganerator

each lamp, 1f it is comnected

it will — the — as for any lam.

. When two ——___ resistences are in ____ the

combined resistémce o e Ehat o orie of the

resistances. When three equal are in

—, the combined resistance ic one that of

cne ¢f them,
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III, Tpgngiate to Chinese

1. is equal to 2, so thas

5, end so on 4, flow through
5. in turn 6., can be fourd
7. end to end 8, g0 thiough

9, potentisl difference 10, electriecal cocmponent
IV, Rewd ot mre length |

Cells mre commected in perallel when the current is divided
between the vorious cells, Tm the normal parallel comnection
of cells all tuc posibive pcles are connected togebher and
all the negative poles are comechted together, Connection is
nade o en externsl resisier from the positive and negative
terminals ot any poin‘t elong the tfires connecting the various.

st o
cells, (seec Fig, 1) - g : v P

[
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Fig 1.Cells in Parallel

For a parallel arrangement ofl® dentical cells, i:hg £ollow-
ing statements are true: _ ,

1, The e.,m, £, of the battery is the same as the e,mf, of
8 s:l.ngie cell,

2. The reciprocal of the total intermal resistance is equal : .'
to the sum of the reciprocals of the resistances of the -
individusl cells.

5, The current in the exSernal cirecuit is divided equelly

among the cells,



Not ess

1. the wires connecting the various cells

BFELEIEG S L,
2. the following statements are true

FTuSRERY (EAHW ),

IT, Resistence in Parallel
A paralliel circuit is one in which one terminal of each
element is connected %o a c—bmmon point to form one terminal of
the system, and the other terminal of each element is connected
to a second common point to form the other terminal of the system,
Under these conditions, each element of the parallel system is ;
acrogs the same voltage, but the fotal current divi;ies amnong
the elements of the circuit, A parsllel circuit of three resis-

: R,
tances is shown below, | AAAN N
| *‘*L__ Kﬂ ,
: i

pes
Figure, Resistences in parallel
With resistances in par_ailel the total equivaelent resistance
- must always b'e less than that of any one of the single resis-
tances, since the addition of a resistance in paralliel with another
another resiatance inereases "!;he available current path and
hence decreases the resistance to curremt flow,

The equivalent of resistances mparallel may be determined



i2 ‘ ;kﬁ

S ;
directly if they are first considered as conductances, Thus, in
the figure above, are shown three resistances Rl,Rz,R3, in

parallel, Their conductances are.G,,60,65, where

*If R is th;—: total equivalent resistance, G= ]/R and equation

may be written

- That is:
In a parallel cirecuit, the réciproca.l of the equiva.lent
resis‘lfance is equal to the sum of the reciprocals of th.-é inci-

vidual resistances.

Notes:

1, A pamiiel cireuit is one in which one terminal of each
clement is connected to_ g common point to form one terming’
Of the System, am sese .
HBEEEEXHE—F Rk, EEADTHG —B R %%
R HEAE R —F B,
2, with resistences in parallel
% i 3 BB _
3, less than %that of = less thai the resistance of
B -ee 2 o LN
4, Thus, in-the figure above, are shown threec resistances
© in parallel, ; i
Frbhy, FE =AM E %R



Lesson Twelve

' Tﬁe_ Transformer

Text

In electric ératm it is often necessary %o changé the voltage
of altermating currents, With the transformer, AC vol‘ﬁage can _be_
ch'm{sed at one' il'L. . . ¥

Usually the tmnsformer hes two windings elec't‘ucal_y :Lnszﬂa't‘o@
from each other. They are wound on a commen closed core made of :
silicon-steel 1a-minati§ns,’ The winding vhich receives electric 3
power is called nrimry winding snd the other is eailled the
secondary winding,.

If the secondary winding has = number of turms greater. +than -
that of the pﬁmmr, the seco;v.de;ry voltage will be higher thaa the
primory voltage, such a trencformer is & step—-up transformer,

On the coxrtmm; if the secordary number of turne ié émaJier
than thet of the primary, i:h'e‘ secondary voltage becomes less
than that of the nrimary, Such o trensformer is a step-down
transformer, In i‘act‘, the voliages are directly proportional

to the number of fturns of wiﬁdings. With this principle in mind
we can design any kind of transformer with 2 suitable selection

of numbers of tumms.



